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Instructions for Candidates,

1. Write your Roll No. on the top 1mmed1ately on recelpt
- of this question paper,

s There are elght questlons in the questlon paper.

Answer any six questions,

3.  All questions carry equal mark.

4. Answers may be written either in English or Hindi;
_but the same medium should be used throughout the

paper.
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1. (a) What is Macro‘economics? Briefly discuss the

different Macroeconomic issues.

(b) Compare the classical and Keynesian -views on
the speed Of.wage and price édjustment. What
are the important consequences of the differences
in the classical and Keynesian views? - (8,7)
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2.

(a) How does GDP differ from GNP? If a country
employs many foreign workers, which is likely to
be higher: GDP or GNP?

(b) Discuss the product and Income approach to
measuring Gross Domestic Product (GDP).
; (5,10)
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Suppose Cong'res_s decides to reduce ‘transfer
payments (such as welfare) but to increa'se_‘ government
purchases of goods and services by an equal amount.
That is, it undertakes a change in fiscal policy such
that AG = -ATR. Where G = Government Expenditure,

TR = Transfers

(i) Would you expect equilibrium income to rise or
fall as a result of this change? Why? Check -
your answer with the following.example: Suppose

. that, initially, ¢ = .8, 1= .25 and Y, = 600. Now
let AG = 10 and ATR = —10.

"P.T.O.
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Tt in equilibriym .
Gi) Find the change q um Mcome, AYq

\Vh , rpl y
(it} y has BS changed? Flus, BS?
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(b) What is the difference between the Desired
Capital Stock and the User Cost of Capital?

(¢) Explain the concept of Money Multiplier.
' (5,5,5)
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5. (a) Wh.at is Multiplier? Hownmu‘ltiplier is related to
Marginal Propensity to Consume (MPC)? Explain
with an example. ' . '

(b) Described by the following functions :

Consumption | ' C =50+ .8YD
| Investment ' [ =170 -
Government Expenditure G =200
Transfers TR = 100

TaX Ratg . t = 20

P.T.O.
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(i) Calculate the equilibrium leye] of iticome
and the multiplier in this model,

(i) Calculate also the budget surplus, BS.

(iti) Suppose that t increases to .25, What js
the new equilibrium income? The new
multiplier. Sl e ; (7,8)
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2) What ig g1
(2) What is national wealth, and why is it important?

How i i i 1 j
O% 13 national wealth linked to national saving?

(b) How the demand for and supply of central bank
moncy determiries the equilibrium interest rates in
an economy with eurrency and checkable deposits?
Explain using formal analysis and diagrams.

(5,10)
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(z) Why do we call mechanisms such as proportional
income taxes and the welfare system automatic
stabilizers? Choose one of these mechanisms and
explain carefully how and-why it affects

fluctuations in output,

(b) How it the rate of interest determined by the
‘ demand and supply of money? What happens to
the interest rate if

P.T.0,
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(i) Nominal income increageg,

(if) Money supply increases, (5,10)
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8. Explé\lin the followings :

(1) Monetary Aggregates

| (i1) Inflatlon

(iii) Consumpuon Funcuon and Saving Function.

(15)

(500)



